H & 0l & AHS B Ml A

2=6{ 0t
#H A (AH6I1DH)
5=l EER-E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
21=0i 0t 286,497 397,479 A110,982
MM 2AHH(A=0]ot) 83,257 31,176 52,081
eI 2 48,997 0 48,997
QIR HH|(H=5{Itm) 48,997 0 48,997
101 e124d| 47,017 0 47,017
02 JIet&a 2= 47,017 0 47,017
OgerlIM((8=) 47,017
—JlZ2= 3,321,580 12~ 12& 39,859
—JIE2d 40,0002 x 12 x 122 480
—AZtelaRsy
9,902 x1H+30AI1 2+ 123 3,598
—Helgss 50,0002 x1& * 122 600
—EAZAHI 140,000& x1H 122 1,680
— Q2 &H|
3,321,600 »84%*86%+1/30+ 10 »1H 800
204 MR AH| 1,980 0 1,980
02 A2 x| 1,980 0 1,980
OgErdDIRI(83) 165,000& x 1+ 123 1,980
[2ZHI(A556011) 34,260 31,176 3,084
JI23HI(A=310t) 34,260 31,176 3,084
201 Zet2& ] 16,440 14,796 1,644
01 AtR2telbl 16,440 14,79 1,644
ORAM2Edet=ZH] 7,200,000 %95% 6,840
OJlzgR+dS20AlI 9,600
—2gy 8,0002 x20&H+53|* 12 9,600
202 04l 14,400 12,960 1,440
01 =LHOLI 14,400 12,960 1,440
OJ|2gF+E=H 0
60,0002 x20& «12& 14,400
203 gR=&| 3,420 3,420
M FA2HLRFEI 3,420 3,420
ORAMZEER=2]
300,000 122 «95% 3,420
IEER A=sdH 2 177,240 325,053 147,813
A2 177,240 325,053 A147,813
FIEHAZ S22 137,576 284,382 A 146,806
101 @124H| 53,066 52,032 1,034
04 JIZtN22 X S8+ 53,066 52,032 1,034
Og= & FSAERE SEXIARE 2| 53,066
—Jl=as 1,871,080 «2F 102 37,422
— g xt=E 76,9702 x2H 0 1,386
—=4| 140,000 x2H 102 2,800
—HEIIHI 1,122,6402 x2E »23] 4,491
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FA AFH I
M gzeR A=HTRL
el ASZ e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 10,490 12,960 A2,470
01 At2teltl 7,690 11,160 A3,470
OH2 ZARZ =5
200, 00024 +324 x32 %43 7,200
OYUIEE SHEHAAS A +g
70,0002 713 490
03 A2 I 2,800 1,800 1,000
OS82l U= 2,800
—wWFIA = 200,000 x22H+23] 800
—uUsUN & 2= MX
1,000,000 *23] 2,000
OPHEXIDHE: 2t 26,000 41,250 15,250
OIHEXIOHE 22| s8X 2Y 26,000 41,250 N15,250
DPHE X 2te| HRXIZ 26,000 41,250 15,250
201 er23| 25,050 40,300 15,250
01 At2teltl 20,250 35,500 15,250
ONHEZL42 17,500
—2Y jTH HEEY
1,000,000 %52 5,000
—ADX X8 82USEH A
500,000 52 2,500
—olJHX BE(HDIAE, BZYIEH)
1,000,000& 102! 10,000
OB Al Mool 2= 3| 2,750
—&HIE Xtz 550,000 52 2,750
2 35244l 4,800 4,800 0
OAIE &I R XY 4,800
—HLERAGII T2 |FXES
400,000 12& 4,800
203 HR=AH] 950 950
03 A=A PR S| 950 950
OOPHE X2 HRFA
1,000,000 *95% 950




